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SSC PART-I (10th CLASS)
“BRLOGY GROUP- by - ) G
TIME ALLOWED: 245 Hours SUBJECTIVE Lo 245 = 5
MAXIMUM MARKS: 63 g3 = AF

NOTE: - Write same question number _?Euuﬂqp,‘,.éirfﬂﬁ{. ﬁtj/ﬁz;jl/?dlyﬂqdfqm S
and its part number on answer book, as given in the question paper.
SECTION- il

2. Attempt any six parts. 12=2x6 -E{;ﬁ#pﬁilm =df 12/-;1.-"-"

(i) What s the difference between Breathing and te OAUE gtk (i)
Cellular Respiration.

(i) Whatis Trachea? e ()

(i) WWhat is the difference between Acute Bronchitis and ?.LJ}L,-‘"J ekl LILE‘IJ.-!':-\:E— 1 (i)

Chrenic Bronchitis?

(iv) Write the names of any two types of Cartilage. = #tﬁrﬁmifuf gk W)
(v} Whatis the difference between Flexor Muscle and e AL S F I o )
Extensor Muscle?

(vi) Write any two causes of Osteoporosis. --r#‘j akﬁmlj:rlfd'?ﬂ,‘ 2ol (vi)
(vii) Define Food Chain and Food Web. A werid ol R5F (il)
(vili) What is meant by Nitrogen Fixation? fe sl " gFaFt (viil)
(i) State the mutual relationship between Sucker fish and Shark. LT L FF O
3. Attempt any five parts. 10=2x5 _ﬁgjs.p.eﬁlmél_-a.df -3
() Define Osmoregulation. : S o
(i) Whatis functional unit of Kidney? | se gl @
(ilij Write two characteristics of Xerophytes. = -ﬁ;kﬁdﬁim (iii)
(v) Differentiate between Self pollination and _EOLOAE S T )

Cross Pollination.
What is meant by Gametogenesis?
Differentiate between Continuous Ferment
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5(A) \What (s Preumonia” Descrbe s SYMPI" # o :
wm.mmﬁwﬂmnw 3 !ﬁLnﬁfacfiﬁﬂié-Jiarfﬂﬁufb’f .y °

(8) What steps

6.A) Explain Pancreas Giand 4 Lot Hnr (D)
| - ints. 3 _éyu@uﬂbJﬁﬁLhLﬁ-ff (=)

7.(A) Write any four types of 4"‘@.)4.3;2.’. kg s Siansy G (-7

Natural Vegetative Propagation.
(B) Write note on Spore Formation and Parthenogenesis. 3 ,-4‘!:.,},; .,r‘g.e'fﬁ e (&)

8.(A) Explain Mendels Law of Segregation with 4 .._.{:.&.-xth&@@.&ﬁﬂﬁ‘di: ()-8
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[ SSC PART-Il (10th CLASS)
LOGY GROUP-I o -/ G

=0y

MAXIMUM MARKS: 63 ga = AF
NOTE: - Write same question number  —&-&n- 4..;,,gir—.f'££ K;JJ/'E!IJ!V‘UW*{Q Wiz -2

and its part number on answer book, as given in the question paper.
SECTION- Jile

IME ALLOWED: 2.45 Hours SUBJECTIVE S¥l2 245

2. Attempt any six parts. 12=2x6 -#{,@&HLII!{:—M -—3/'-?&-!“"'
() Differentiate between Bronehi and Bronchioles. EOAL I St )
(i) Write down two symptoms of Amphysema. -«é{fﬁl-#mf wedh (i
(ili) Write two effects of smoking on teeth. g Fatbgurh L B (i)
(iv) What is meant by Skeletal System or Skeleton? e sl o5 L U (W)
(v) What are Moveable Joints? Give one example. -.f;-:f'dlﬁ-..-ﬁ T'f_:yl._fa.-_q.rl‘.’ ;.F:-’_ui_.f.:ff {v)
(vi) Define Origin of Muscles. _&E ASEAL T )
(vii) What is Predation? Give one example. bl el Rhg Lo (Vi)
(viil) What is meant by Global Warming? Seslptfe Lt E (i)
(ix) Explain Dengue Fever briefly. -#I#ulfﬁﬂlétﬁ' 5 (ix)
3. Attempt any five parts. 10=2x5 .gﬁ}fauﬁﬁlmskaﬂf 34
(i) Whatis meant by Osmoregulation? {;;ylf:—. L-,FJJ:‘;;"}E (i)
(i) Whatis Skin? Describe s function. o ek i)
(ii) What are Renal Cortex and Renal Medula? surt” ekt g Gi)
(iv) WWhatis meant by Double Fertilization? Seslrlic EARASS fiu}-
(v) Whatis Endosperm? ?&gif»{-' )ﬁ
(vi) Write the names of four industrial products produced ,_e,"ﬁw_’_,,,r‘f' Sl bibd

through the process of Fermentation.
{vii) Explain Alcoholic Fermentation.
(vili) What is meant by Recombinant DNA
4. Attempt any five |:a|u1mr
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NOTE: - Attempt any three q“ﬂﬂﬂ .g{i:-'?"’t': b’i.b";l.a‘:u!-'{ {..Ul‘,;: @?j?

4
5.(A) Describe Gaseous exchange in Plants. 3 _4‘{.‘@{ o %
{B) Wite a note on Halophytes.
=l g (D).
6.(A) Describe the structure and function of a Neuron. 4 _gf = L-:Jﬁj'u:’lfi.{tJ uj 6
3 ,5{#@&%&#% ()

(B} Explain three types of Arthritis.
ié.-..:u,d'mpuﬂwei.eﬂfdﬂ ()7

7.(A) Define Binary Fission. 4
Explain it with examples.
(8) Write down advantages and 3 -.:_igfa.cuﬁﬂu.fﬁf.w’-‘g's{ﬁf&ﬁuut (<)

disadvantages of Vegetative Propagation.

tare Ecological Pyramids? Give examples. 3 £t furd AT ()

obtained by 4 _.,{ymlﬁﬁ[‘;kduuﬂ:,'_;iﬁ ()9
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R CODE 2016 (A) A

BER: 7468 SSC PART-II (10th CLASS)
GROUP-I =/ B
IME ALLOWED. 16 Minutes OBJECTIVE (e w15 = =h
MAXIMUM MARKS: 12 12= A

A b ) S0h 308 YL e D e Ll ke I.--.‘:.,J'!r,uqml.! .L.gi.{,.; I = - T &P.RJE'EI':-LJ'VK -
kA el 54 Bubbles S bt a AN LS SV | L Sifunsl et <25
Mote: You have four aholoes for aach abjective type question as A, B, C and D. a-l..{-l'&trfrﬁﬂ'“f{#{-:u"
The eholos which you think |s correet, Bl that lrele In front of that question number, Use marker or pen
to Nl the olroles. Cutling or Mlling two of more olrcles will result in 2ero mark in that quostion. Attempt as
many questions as given In objective type gquestion paper and leave others blank. No credit will be awarded
in oase BUBBLES are not filled, Do not soive question on this sheet of OBJECTIVE PAPER.

Q.No. -1 A

(1 s Ablotic aomponent of Ecosystem --f.-"*‘-'-ffl'—'{!}.-"l:' — W
(A) Producar Jeghe  (B) Horbivores L s (C) Carmnivores Jod¥ (D) Oxygen l.a-‘FrT

(20 drug s obiained from (he plants -‘L-JH'I.';'-L-FL'I:-UH#."J - &
(M) Aapitin o U (B) Oplum e (C) Cophastosponn gl (D) Insulin A

(3] Tha Engyme which b used 1o dissolve biood clots s - -,hf'ﬁ'w"}-}?fu’?i':-d} (3)
(A) Urokinase 3#¥ig  (B) Interferon ydf (C) Thymosin '+ (D) Beta-endorphin ol

{4) During insplimtian the amount of Oxygen in inspired air - -ﬁ‘-*'il'wumd“i-ﬂﬁ"ﬁwﬂﬂiéﬂjb (4)
(M) 10 % (B) 21 % {C) 4% (D) 79 %

(6) ___ Is responsible for Fillration of Blood +J;¢..‘1¥J.J}%} e . A8
(A) Intmstine /¥ (B) Brain (A (C) Stomach p.e (D) Kidney 1

(B} Insulin and Glucagon are produced in - g ol agA @

{A) Hypothalamus L7a2¢)  (B) Piuitary (6 (C) Pal
{7} labe is conceined with hearing and small
(A) Occipital g1 (8) Temporal  Jusg

D) Liver £
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R CODE 2016 (A) A

BER: 7463 SSC PART-I (10th CLASS)
LOGY GROUP- bt -t GBI
IME ALLOWED 15 Minutes OBJECTIVE (37 ir15 =
122 A

MAXIMUM MARKS 12
He By SRS IL N srie BN s L g g§W02 fEL G2 D A C B A by ldmg 27
U Ko A e emmfi foi Bubbles -brrbttndilemlli SN | L et &2
Mote: You have four cholces for sach objective type question as A, B, C and D. *L{MJ:T'-"'W{’:{ L
The choice which you think is correct, fill that circla in front of that question number. Use marker or pan
1o fill the circles, Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as
many questions as glven in objective type question paper and leave others blank. Mo credit will be awarded
in case BUBBLES are not filled. Do not solve question on this shaet of OBJECTIVE PAPER. f} |
A amullr

Q.No.1
i r
{1} For all Ecosystems, the basic source of energy is - -Ia.guua-alili.dq'.-if*l e (1)
(A) Plants < s (B) Water (i (C) Sun fur (D) Fire =1

(2) Antiviral protein is:- b (@)
(A) Insufin = (B) Interferons 121 (C) Thymosin @ (D) Urokinase 55K

(3) Aspirin is categarised as - el = R Q)

(A} A drug from plants /U ey (B} A drug from minerals i/ e =t
(C) A synihetic drug bt fl (€) A drug from animals fms/MbeUrede

(4) Inflammation of Brenehi or Bronchickes is called:- e Surdnint I S (4)
(A) Flu # (8) Preumonia &/ (C) Bronchis 6 (D) Cough ¢

(5) The tube between Kidney and Urinary Bladder is the-- e Rl Smes, (B)
(A) Gall Bladder .iJE (8) Urethra 1£4 (C)Nephron ¥ (D) Ureter 2

€ iohe ol forsbran onmie sentayarcas. | e i bg Rl st b o) )

that receive impulses from skin. wpmﬁdgﬁzg [ﬁ]fmﬂlgﬁi [Glmuhﬁ‘cf (D) Temporal i
() ot oys itrges sl ta on : h[ﬁﬁﬂ_wﬁm o




